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8	 Len has 8 parcels.

	 The mean weight of the 8 parcels is 2.5 kg.
	 The mean weight of 3 of the parcels is 2 kg.

	 Work out the mean weight of the other 5 parcels.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . kg

(Total for Question 8 is 3 marks)

9	 In a sale, the normal price of a coat is reduced by R%

	 Given that 
				    sale price = 0.7 × normal price

	 find the value of R.

R = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 9 is 1 mark)


